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EXERCISE 17A

1. Select the correct answer.

For SSC GD and MTS Exams
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7. Select the correct answer.
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8. Select the correct answer.
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Select the correct answer.
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Find which figure is to be removed so that all, starting

from |, fit into a pattern.
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Select the correct answer.
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Logical Venn Diagrams B 3
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Select the correct answer.
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Select the correct answer.
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Logical Venn Diagrams ® 5

Select the correct answer.
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34.

35.

36.

(a)

(c)

O

Select the correct answer.

(a)

(c)

e e |

.....

OO
©]0)

OO

Select the correct answer.

(a)

SSC MTS 16/08/2019 (Shift-3)

(b) O
O
O

O

O
O

IS

X

<

X

<

Pa

Select the correct answer.
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Select the correct answer.
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sj[ee o|[Ce o o (c) (d)
° ° ) OO
@ | Bel| So|| ? |o® DN SO
SSC MTS 09/08/2019 (shift-3)
(O) O (b) 45,  Select the correct answer.
@Q O@ AMR|Ma |[R T|| L
O 0O O e J A LM K||4 9
KTt A Al | mad|’
()| O O ) @o 0 SSC MTS 08/08/2019 (Shift-2)
© P @I K BT K
O e ® J L
43. Select the correct answer. 4 M A R MA
9 9 SO 100 9 ©[T K @[L K
C o ko] X X
R MA 4 M A
SSC MTS 09/08/2019 (Shift-1)

SOLUTIONS

According to the question, the symbol is moved one

[¢]
(M step clockwise. So, option (c) is correct.
S =@
[e]

X
x A X@
According to the question figure, in outer side of ©
figure the point moved in other side and two cross According to the question, the symbol is moved one
is add and inner figure point and cross moved to step clockwise and next figure symbol is moved one
other side. So, option (a) is correct. step clockwise. So, option (d) is correct.
2§ 4 @O
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According to the question, the arrow is moved 45°
anticlockwise and arrow direction is changed, and
O is moved one step anticlockwise and two step
anticlockwise. So, option (d) is correct.

Ty A
—>

According to the question figure, circle and arrow
moved one step anticlockwise and triangle moved
one step clockwise and then reverse. So, option (c) is
correct.

(d)* "B

According to the question figure, rectangle moved 2
steps anticlockwise and change direction. So, option
(d) is correct.

(a) ‘V <>

®
0 0

According to the question figure, & and A change
their place step by step and other three symbol
moved one step clockwise. So, option (a) is correct.

According to the question figure, dark part moved
two step anticlockwise, p —» moved one step

anticlockwise and reverse, circle moved one step.
So, option (d) is correct.

—>

According to the question figure, arrow moved 135°
clockwise. So, option (b) is correct.

@ s v

0 ?

According to the question figure, S moved 2 step
and one step and then moved at bottom. So, option
(a) is correct.

(a)

(d)

(b)

According té the question figure, — moved
first two step and next one step anticlockwise, —»
moved first two step and next one step clockwise.
So, option (a) is correct.

(c) =<

<>

—

O
According to the question figure, fist symbol moved
at last and another symbol moved one step above.
So, option (c) is correct.

According to the question figure, the figure
first moved 45° anticlockwise and their end is
interchanged, and the second moved 135° clockwise
their end is interchanged. So option (b) is correct.

AT

| I 11 v Vv
In given question figure (IV) is removed and then,
figure | to all figure in a pattern. So option (c) is
correct.

(d) Y 3
=
A

According to the question figure, ¢ moved one step
clockwise, and arrows moved 90° anticlockwise and
dark. So, option (d) is correct.

According to the question, the triangle and square
moved 45° anticlockwise and V¥ is moved 45°
clockwise. So, option (a) is correct.

(a)

According to the question figure, first one arrow is
add and reverse, next one line add and arrows are
reverse. So, option (a) is correct.

(a)



20.

21.

22.

23.

24.

25.

(d)

According to the question figure, figure moved 135°
anticlockwise. So, option (a) is correct.

ars
/A

According to the question figure, all symbol moved
one step clockwise and symbol change their
direction. In triangle, one side is added. So, option
(d) is correct.

—
[

°
+“—e

According to the question figure, —» moved one
step clockwise and —» moved two step clockwise.
So, option (b) is correct.

According to the question figure, line move one step

clockwise and | move 45° anticlockwise. So, option
(d) is correct.

4

According to the question figure, & moved one step
clockwise and remove one side dark part of square
move one step, two step, three step clockwise. So,
option (d) is correct.

< D

According to the question figure, A moved one step
clockwise and it also moved 90°. So, option (a) is
correct.

w ©

XD,

According to the question figure, all symbol moved
one step clockwise. So, option (b) is correct.

®
N

According to the question figure, circle moved
45° anticlockwise and square moved one step
anticlockwise. So, option (d) is correct.

26.

27.

28.

29.

30.

31

32.

33.

Logical Venn Diagrams & 9

O &
>

According to the question figure, all symbol moved
one step clockwise. So, option (d) is correct.

S
X
N <

According to the question figure, circle moved
one step anticlockwise, square moved one step
anticlockwise and inside line is change. So, option
(c) is correct.

X

c

According to the question figure, right symbol
changed and left symbol remove by right symbol.
So, option (d) is correct.

According to the question figure, circle moved two
step clockwise. So, option (c) is correct.

INEENS
>

According to the question figure, circle moved one
step clockwise. So, option (a) is correct.

PH 0K
PN

According to the question figure, paper fold three
times. So, option (a) is correct.

4

"
%

According to the question figure, triangle moved
opposite corner. So, option (c) is correct.

According to the question figure, in figure one line
add. So, option (c) is correct.
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34.
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39.
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According to the question figure, paper fold three
times, circle is four and square is four. So, option (a)
is correct.

According to the question figure, the middle line
moved 90° clockwise. So, option (b) is correct.

*

‘_

According to the question figure, —» moved one
step down and change direction and another
symbol moved one step, two step, three step
anticlockwise. So, option (a) is correct.

<+ O
WA

According to the question figure, left down corner
symbol moved to right down corner and Right up
corner symbol moved to left down corner. So, option
(d) is correct.

>
v
<=

According to the question figure, all arrows moved
one step anticlockwise, dark arrow moved two step
and rectangle dark part moved opposite. So, option
(a) is correct.

AO@

(]

Q

40.

41.

42.

43.

44,

45.

According to the question figure, O, A, ¢, moved one
step clockwise, and [, 1y replace. So, option (d) is
correct.

¢

According to the question figure, square moved one
step clockwise and fist blank and next dark. In circle
dark part moved one step. So, option (b) is correct.

D

V

According to the question figure, circle and triangle
replace each other and circle moved 90°. So, option
(d) is correct.

(a) O

P

According to the question figure, Circle moved 90°
anticlockwise. So, option (a) is correct.

A WA WAN
AVER VAR VS

VAN
VN

According to the question figure, symbol is added
one more. So, option (c) is correct.

>

According to the question figure, In figure arrow (>)
is add one more. So, option (b) is correct.

T K
J
R MA

According to the question figure, all symbol are
moved one step clockwise and three symbol are
reverse. So, option (c) is correct.

EXERCISE 17B

1.

For SSC CHSL Exam

Select the correct answer.
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Select the correct answer.
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Select the correct answer.
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Logical Venn Diagrams B 11

(c) » A (d) * ‘
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Select the correct answer.

T
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Select the correct answer.
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Select the correct answer.
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SOLUTION

1. (a)

VAVAN
/o

According to the question figure, A and * moved
one step clockwise and ¢, o0 moved one step
anticlockwise. So, option (a) is correct.

According to the question figure, the figure moved
90° clockwise and A changed their directions. So,
option (b) is correct.

+,.0
Af-}

According to the question figure, bottom arrow
moved 90° clockwise. So, option (c) is correct.

N

According to the question figure, two lines are added
at the end of line in opposite direction. So, option
(b) is correct.

U+ @
According to the question figure, bottom triangle
moved 90° clockwise. So, option (d) is correct.

(d)

According to the question figure, one arrow is added
and its direction in opposite. So, option (d) is correct.

O JOX NOX NOX JOX J

According to the question figure, two circles are
added. So, option (b) is correct.

I

According to the question figure, the symbol moved
one step left side and dark shape moved left side.
So, option (d) is correct.

(a)

(d)

According to the question figure, one line is removed.
So, option (a) is correct.

EXERCISE 17C

For SSC CGL and CPO Exams

1. Select the correct answer.
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2. Select the correct answer.

3.
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Select the correct answer.

&

O

A

ha

>0O0OC03%

O

©)
<&

9

1N

<D

|@|

?

SSC CGL 21/04/2022 (Shift-2)

SSC CGL 21/04/2022 (shift-1)



(o) OIS
O
SO AD e
A
O
(c) (d)
OO0 A=XxD OOk AD
Select the correct answer.
?
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o

Select the correct answer.
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Select the correct answer.
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Logical Venn Diagrams B 13
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Select the correct answer.
CA NN
SSC CGL 19/04/2022 (Shift-3)
(a) (b) g}
(c) (d)
Select the correct answer.
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Select the correct answer.
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10.
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13.

Select the correct answer.
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Select the correct answer.
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|l ( °
I ° ]
>
o Y

SSC CGL 13/04/2022 (shift-3)

(a) (b)| O
[ O [l
< =
(c)| © (@)| ©
N | C
o> <=

Select the correct answer.
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Select the correct answer.
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Select the correct answer.
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Select the correct answer.

(b)
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Select the correct answer.
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Logical Venn Diagrams B 15

(d)

Select the correct answer.
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Select the correct answer.
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Select the correct answer.
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24.
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Select the correct answer.
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Select the correct answer.
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Select the correct answer.
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Select the correct answer.

—> | ———»|—>
_— | —>
> > 9
—_— > | —> .
Emm— —_— |
SSC CPO 25/11/2020 (Shift-3)
(o) —> L) —
—_— —>
E— E—
E— E—
—_— —_—
O] — (@) /=,
—> —>
E— E—

Select the correct answer.

K

$SC CPO 25/11/2020 (Shift-3)

(b)

@

Select the correct answer.

OalllA] @D A 2

“0alll “|loa
=

Select the correct answer.

COm

$SC CPO 25/11/2020 (Shift-1)

(b)

(a)

(C) @
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32. Select the correct answer. 36. Select the correct answer.
alalall| alalall|ala N A <+ <=1° Ni= sk
Al Alll A A Al [al||A] & ‘) * 4} O ?
Al AlA] Alala]|| Ala]a]|| ala]a o N - * N <}
SSC CPO 25/11/2020 (Shift-1) $SC CPO 24/11/2020 (shift-3)
() (b) AlA @xk < eIN <
AN
A A = =
AlA|A AlAJA O N ® 0
— @N < @ ©
(c) (d)
A|A A A|A A O o
A A e o <> e
AL AA 37. Select the correct answer.
° o k[k
33. Select the correct answer. * o ?

Q E ; ) o X
% 9 SSC CPO 24/11/2020 (Shift-1)
(a) i (b) it

SSC CPO 25/11/2020 (Shift-1)

(@) /< (b)\ﬁ
*
(c) ° (d) x o
X

(c) N
34. Select the correct answer. 38. Select the correct answer.
- - 9
ooomalonaoc|oaod| ? ?
D ¢
SSC CPO 24/11/2020 (Shift-3) $SC CPO 24/11/2020 (shift-1)
(a) (b) (a) ® (b)
I
@ (at) (©)| @ @[ @
SoAaO AOOO
D) — =

86 Select the correct answer. 39. Select the figure that will replace the question mark (?)

i iy o G A @ B 9 in the following figure series.
N o = oe <
O ¢ - — )
S$SC CPO 24/11/2020 (shift-3) — {1 > o I
(a) @ - = O SSC CPO 24/11/2020 (Shift-1)
A - @ & [n O
O @3 O ¢ =
= O ¢
o [ [
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(@O <4 I B (@) X@|$ (b) <@
(1)
¢ ¢ %
= © - %
40. Select the correct answer.
o) olo o) O " a (d) $
s D % $ % @
e 4+ 0
SSC CGL 07/03/2020 (Shift-2)
(a) 0 (b) @) O 44. Select the correct answer.
<+ * O =
o - Ol [#X =||| u ?
= #
() 0 Cl
% SSC CPO 13/12/2019 (Shift-3)
(a) (b)
O <+ O
41, Select the correct answer. t # t #
4P| — | B—F u u
> | B—8 | &/ 9
=5—=-8 © o : (c) (d)
o—o| +—b | > #
SSC CGL 07/03/2020 (Shift-1) [ O =
(0] 6——06 (b)| >—=< u u
5] E 45, Select th t
9_@ . elec e correct answer.
>« SR R PO A It 5
)
©) o—eo (@) e—o6 * o ‘
4—> D SSC CPO 13/12/2019 (Shift-3)
AR 4+—> (a) d (b)
S - 2%
42. Select the correct answer. O O
A O @ o < (c) (d) 2\7>
o |"a Y] 9 2%
3 o <A 0 e
SSC CGL 06/03/2020 (shift-3) | 46. Select the correct answer.
(@A O (0) | A % 619 @e %
0 0 ‘)
U VRS @ % 6
(c) 0 (DA @ $SC CPO 13/12/2019 (Shift-3)
DN S @@ o @ 6
43. Select the correct answer.
% @ % %
$ @ 9 (©)|op 6 (d)|% 9
@ % $ .
$ %
SSC CGL 06/03/2020 (Shift-2) @ @
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47. Select the correct answer. 49. Select the correct answer.
[¢) O
Dk e ) .
$SC CPO 13/12/2019 (Shift-1) O @ <- e 0 &
(@) (o) * $SC CPO 13/12/2019 (Shift-1)
- g @ e
$ O% $ O
(o) (o) ¥ D v « 8
* O
d
$ o xS P A Op =
48. Select the correct answer.
> o/x #lo X 1 @ v 0
? 50. Select the correct answer.
X 0 @ +
SSC CPO 13/12/2019 (Shift-1) (0] o ‘)
(@) X 0 (b)| X 0 + o +
SSC CPO 12/12/2019 (Shift-3)
(@ *O (b)
% > O
©[o % ()[04 0 *
(c) (d)
O + O
X X +
SOLUTIONS
1. (b) 3. (a)
<
O m | ﬁ OO ADO
According to the question figure, all symbol moved
ene gtep clocka|se o.nol change in opposite According to the question figure, all symbol make
direction. So, option (0) is correct. a line and this line moved 45° clockwise and last
2 (d) symbol moved at first. So, option (a) is correct.
4. (c)

g

According to the question figure, one line added.

So, option (d) is correct.

=)

According to the question figure, the dark part
moved to Il next figure. So, option (c) is correct.
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5.

(d)

(d)

(a)

(c)

(d)

> &

@

According to the question figure, all symbol moved
one step clockwise and change their direction. So,
option (d) is correct.

AAA

<

&

According to the question figure, one triangle is
added and & is moved one step clockwise. So,
option (d) is correct.

A

According to the question figure, figure moved 45°
clockwise. So, option (c) is correct.

O
° O

< 0

According to the question figure, right corner symbol
moved to left corner symbol, down symbol moved
to bottom. So, option (a) is correct.

A O O
A O O
&

According to the question figure, two triangles are
removed and one square is added. So, option (c)
is correct.

©

According to the question figure, first @ moved two
steps anticlockwise and other figure © is moved
three step and then [X] is moved four steps, now [X]
is moved two steps and © is moved three step. So,
option (d) is correct.

(1 J [ ]

00

According to the question figure, figure moved 90°
anticlockwise and dotted are added. So, option (c)
is correct.

* N
®
<&
According to the question figure, outer symbol

moved clockwise and bottom symbol replace by
right corner symbol. So, option (a) is correct.

o
(|

<

According to the question figure, rectangle and
circle moved right side and arrow moved one step
and rectangle and circle replace each other. So,
option (d) is correct.

N
N
According to the question figure, figure is moved

one step and two step anticlockwise and symbol
change their direction. So, option (c) is correct.

According to the question figure, — is moved 135°
clockwise and —s is moved 135° anticlockwise. So,
option (c) is correct.

O E
A
U I

According to the question figure, left down corner
moved to bottom. So, option (c) is correct.

B ]

According to the question figure, l] moved one
step clockwise and other symbol moved one step
anticlockwise. So, option (b) is correct.

Lo
n =

According to the question figure, all symbol moved
one step clockwise and left corner symbol is reverse.
So, option (b) is correct.

o

O
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21.

22.

23.

24.

25.

26.

27.

(d)

(d)

(a)

(c)

(a)

(d)

(c)

(b)

According to the question figure, ¥ moved two steps,

# moved three steps, © moved five steps. So, option

(d) is correct.
(&}

n

According to the question figure, symbol moved one
step clockwise and symbol moved 90° anticlockwise
also. So, option (d) is correct.

ﬁ‘)

1

According to the question figure, symbol moved one
step anticlockwise and reverse, arrow is moved 90°
clockwise. So, option (d) is correct.

(
<

According to the question figure, Z\ is moved one
step and moved also 90° anticlockwise. So, option
(a) is correct.

O <
NA

5,

According to the question figure, only one symbol
moved two step clockwise. So, option (c) is correct.

A

F

According to the question figure, right corner symbol
moved left corner and right corner changed new
symbol. So, option (a) is correct.

A

According to the question figure, figure moved
90° anticlockwise and triangle moved one step
anticlockwise. So, option (d) is correct.

P

According to the question figure, symbol moved
one step anticlockwise and one line is added. So,
option (c) is correct.

C x A
o - 0O

[a)

28.

29.

30.

31

32.

33.

34.

35.

(a)
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According to the question figure, some symbol
moved one step anticlockwise and some moved
two steps anticlockwise. So, option (b) is correct.

—

e
 —

—

According to the question figure, Il and IV arrow
moved to back and next Il and IV moved to ahead.
So, option (c) is correct.

According to the question figure, inner figure moved
45° anticlockwise and outer figure moved one step
clockwise. So, option (d) is correct.

Oall

According to the question figure, It is blank and
other is dark, next Il is blank and other is dark. So,
option (a) is correct.

According to the question figure, inner shape moved
to outer and dark part moved to outer side. So,
option (b) is correct.

AN
A
A|A|A

According to the question figure, the last symbol
moved two steps clockwise. So, option (b) is correct.

According to the question figure, figure moved 45°
clockwise and its direction is changed. So, option
(a) is correct.

AOOO

D

According to the question figure, left symbol moved
at last symbol and circle move down and again up.
So, option (d) is correct.

4O

=

According to the question figure, arrow is moved
90° clockwise. One symbol is added. So, option (d)
is correct.
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36.

37.

38.

39.

40.

41.

42.

43.

(b)

(d)

(c)

(d)

(a)

(c)

(b)

(b)

N 4

= 0

According to the question figure, left down symbol
moved to left up and right down to right up and
left up symbol moved to bottom. So, option (b) is
correct.

* [ ]

According to the question figure, dotted moved
one step and next two steps and next three steps
clockwise. And star moved same as dotted but
anticlockwise. So, option (d) is correct.

@
\H

According to the question figure, circle moved one
step clockwise and darker part moved opposite. So,
option (c) is correct.

O &
¢

<

According to the question figure, right corner symbol
moved up to down and other symbol moved to
clockwise. So, option (d) is correct.

(]

[—

O <+

According to the question figure, circle moved two
step clockwise < is moved one step clockwise. So,
option (a) is correct.

e——o0
G—>
S

=

According to the question figure, It line moved to
last line. So, option (c) is correct.

g U
According to the question figure, right corner symbol

moved up to down. And another symbol moved
clockwise. So, option (b) is correct.

@|$

%

44.

45.

46.

47.

48.

49.

50.

According to the question figure, $ moved two steps
and @ moved one step anticlockwise, % moved two
steps clockwise. So, option (b) is correct.

t #
u

According to the question figure, figure moved
anticlockwise and one symbol is changed. So, option
(b) is correct.

3

©)

According to the question figure, o is moved one

step anticlockwise, and is moved one step

clockwise. So, option (a) is correct.

% 9

@

According to the question figure, symbol moved
anticlockwise and one symbol is reversed. So, option
(d) is correct.

*

$ O %

According to the question figure, i% is moved one
step clockwise, and one another new symbol is
added. So, option (c) is correct.

% 0

X

According to the question figure, left corner symbol
moved up and replace by new symbol. All symbol
moved clockwise. So, option (d) is correct.

c %
« 8

According to the question figure, all symbols moved
anticlockwise. So, option (b) is correct.

+O

According to the question figure, circle moved one
step anticlockwise. So, option (a) is correct.



